N AT e JE AR
X E T A E O E % W B4
Wz s a0 o alTR e | RO R g | T | TREEI RIS
Al0]|1]|0]|6 |fIHiEEE S62 30 4= | R13.12.31 | BEFE [wiisredoh H14.01.01 | #&
A[0] 1|06 |flHEER H13 30 45 | R13.12.31 | BEHE [wssrre ok H14.01.01 | #&
A[0] 1|06 |flHEER H17 30 4 | R17.12.31 | BE3E [wssrre ok H18.01.01 | #&
A[0] 1|06 |flHEERH H18 30 4 | R18.12.31 | BEHE [wissrve ok H19.01.01 | #&
A[0]| 1|06 |fHEERH H19 30 4F | R19.12.31 | BEHE [wiserve ok H20.01.01 | #&
A[0] 1|06 |flHEERH H22 30 4 | R22.12.31 | BEHE [wssrve ok H23.01.01 | #&
Al[0|1]0]6|flHEER H24 30 4E | R24.12.31 | FEZE |wissrrior| H24.01.01 | H25.01.01 | %
Al[0|1]0]6|flHEER H25 30 4E | R25.12.31 | FEZE |wissrraor| H25.01.01 | H26.01.01 | %
A0 1|06 |fFlEEERH H28 30 4 | R28.12.31 | pEE#E |wisvexor| H28.01.01 | H29.01.01 |  #%
A|0]|1]0]6|FIHEEAER H29 30 4E | R29.12.31 | FEZE |whissrrior| H29.01.01 | H30.01.01 | %
A[0|1]|0]6|flHEmEER RO1 30 4E | R31.12.31 | FEZE |whissvrxor| H31.01.01 | R02.01.01 | %
A[0]| 1|06 |flHEER R02 30 4F | R32.12.31 | BE#E |wisvexor| R02.01.01 | R03.01.01 | %%
A|0]|1]0]6|FIHEmAER RO3 30 4E | R33.12.31 | FEZE |wiss+rior| R0O3.01.01 | RO4.01.01 | %
A[0]|2]0]|2 | BB RO3 3 4E | R06.12.31 | FEZE |wirvraor| R03.01.01 | R04.01.01 | %
Al0]|2]|0]|2|FEBEDILRE R04 3 4E | RO7.12.31 | BEZE |wir+er-h| R04.01.01 | R05.01.01 | &
Al0]|2]|0]|2|FEBEILRE R05 3 4F | R08.12.31 | BEZE |wisr+ex~h| R05.01.01 | R06.01.01 | &
Al0]|2]|0]|6|3CEZFAVEE HEFH 04 BEIE |7y BRI
Al0|2]| 1|5 | CEREE -BEHE RO1 54 | R06.12.31 | BEFE |smrvexoh| H31.01.01 | R02.01.01 | %
Al0| 2] 1|5 | CEREE -BEHE R0O2 545 | RO7.12.31 | BE=E |smsvexor| R0O2.01.01 | R03.01.01 | %%
Al0| 2] 1|5 | CEREE -BEHE RO3 545 | R08.12.31 | BE=E |wmx+rxor| R03.01.01 | RO4.01.01 | %%
A0 2| 1|5 | CEREE -BEHE RO4 54 | R09.12.31 | BEZE |smx+exor| R04.01.01 | R05.01.01 | %%




AlO| 2| 1|5 |CEREE -BEE RO5 54F | R09.12.31 | BEZE |wmsx+exok| R05.01.01 | R06.01.01 | &
Al0[9]0] 1 |EEILER H16 30 4 | R16.12.31 | BEIHE [wisre ok H17.01.01 | &
Al1|2]0]|2 |fsEscE #x#cks 0 4R FEFE [wizre oh 4t
Al2(0[0] 1| A\ZFEEhimEmERH HO06 30 4F [ R13.12.31 | BEHE |wissrie stk H14.01.01 | #%&
Al2(0[0] 1| A\ZFEEhimERH HO7 30 4F [ R13.12.31 | BEHE |missri stk H14.01.01 | #%&
Al2]10]0| 1| ANFEEh@EERH HO8 30 4F | R13.12.31 | BEHE [wissrre ok H14.01.01 | %%
A[2]0]0[ 1| ANFEEENELE HO09 30 45 | R13.12.31 | BEIE [wiisre ok H14.01.01| %%
Al2]10]0| 1| ANFEEh@EERH H10 30 4F | R13.12.31 | BE3E [wissrre ok H14.01.01 | %%
Al2]10]0| 1| ANFEE@EERH H11 30 4F | R13.12.31 | BE3E [wissrre ok H14.01.01 | %%
A[2]0]0| 1| ANFEEEELE H12 30 4 | R13.12.31 | BEIE [wiisre ok H14.01.01| %¢
Al2]10]0| 1| NFEE@EERH H13 30 4F | R13.12.31 | BEHE [wissrre ok H14.01.01 | %%
A[2]10]0| 1| NFEE@EER H14 30 4F | R14.12.31 | BE3HE [wissrre ok H15.01.01 | %%
A[2]0]0[ 1| N2 H15 30 4 | R15.12.31 | FEIE [whissvre ok H16.01.01| %%
A[2]10]0| 1| NSFEE@EEL H16 30 4F | R16.12.31 | BEHE [wissrre ok H17.01.01 | %%
A[2]10]0| 1| NSFEE@EEL H17 30 4F | R17.12.31 | BEHE [wissrre ok H18.01.01 | %%
A[2]0]0[ 1| ANF2EEEERE H18 30 4F | R18.12.31 | FEIE [wiisrie ok H19.01.01| %%
A[210]0| 1| NFEE@EERH H19 30 4F | R19.12.31 | BEHE [wissrre ok H20.01.01 | %%
A[210]0| 1| NFEE@EERH H20 30 4F | R20.12.31 | BEHE [wissrre ok H21.01.01 | %%
A[2]0]0[ 1| N2k ERE H21 30 4F | R21.12.31 | BEFE [wiissvri ok H22.01.01| %%
A[2]10]0| 1| ANFEE@EERH H22 30 4F | R22.12.31 | BEHE [wissrre ok H23.01.01 | %%
Al 2[00 1| A= FLEhimEnEHR H23 30 4F | R23.12.31 | BEIE |wissrriok H24.01.01 | %%
Al2]0]0] 1| ASFREh @I T H24 30 4F | R24.12.31 | BEZE [vomsvesor| H24.01.01 | H25.01.01 | #K
Al2[0(0] 1| A\GFFEhmEER H25 30 4F | R25.12.31 | BEZEE |wirvrexob| H25.01.01 | H26.01.01 | #%




Al2[0]0] 1| A\FRBh @ EH H26 30 4F | R26.12.31 | BEZE [womervesor| H26.01.01 | H27.01.01 | #E
A[2]0]0[ 1| A\FFEhamEnERE H27 30 4 | R27.12.31 | FEEE [wmsvesor| H27.01.01 | H28.01.01 | #%
Al2(0[0]| 1| NFEE @I H28 30 4E | R28.12.31 | BE#E |wissvexok| H28.01.01 | H29.01.01 | &
Al2]0[0] 1 [ AgRBhEmERK H29 30 4F | R29.12.31 | BEHE [womvexor| H29.01.01 | H30.01.01 | #%
A[2]0] 0| L | ASFRBh @M ERK H30 30 4F | R30.12.31 | BEHE |wisvexor| H30.01.01 | H31.01.01 |  #&
A 2[00 1| A= FEhimEnEHH RO1 30 4E | R31.12.31 | FEZE |wissvraor| H31.01.01 | RO2.01.01 | %
A 2[00 1| A= FEhimEn T RO2 30 4E | R32.12.31 | FEZE |wiss+rior| R02.01.01 | RO3.01.01 | %
Al2]0]0] 1| A\FRBh @ EE RO3 30 4F | R33.12.31 | BEZE [wmerrexob| R03.01.01 | RO4.01.01 | #&
A 2[00 1| A= FEhimEn T R04 30 4E | R34.12.31 | FEZE |wiss+rior| R04.01.01 | RO5.01.01 | %
A 2[00 1| A= FEhimEn T RO5 30 4E | R34.12.31 | FEZE |wiss+rxor| R05.01.01 | R06.01.01 | %
Al210|0|2|nEtEEHE H13 30 4F | R13.12.31 | BEFE |wisre ok H14.01.01 | %%
Al210]|0|2|nEtEEHE H14 30 4F | R14.12.31 | BEFE |wissre itk H15.01.01 | %%
Al210]|0|2|nEtEEHE H15 30 4F | R15.12.31 | BEFE |wissre ik H16.01.01 | %%
Al2]0]|0|2|mEfEHE H17 30 4 | R17.12.31 | BEIE [wisre ok H18.01.01 | &
Al210]|0|2|nEtETEHE H18 30 4F | R18.12.31 | BEFE |wissrre ik H19.01.01 | %%
Al210]|0|2|nEtETEHE H20 30 4F | R20.12.31 | BEFE |wissre ik H21.01.01 | %%
Al210|0|2|nEtEEHE H21 30 4F | R21.12.31 | BEIE |wisre itk H22.01.01 | #&
Al2(0(0]| 2| nEREERE H22 30 4F | R22.12.31 | JRHE |whissrvr it H23.01.01 | %%
Al2(0(0]| 2| nEREERE H23 30 4F | R23.12.31 | JEHE Wit ok H24.01.01 | %%
Al210|0|2|nEtEEHE H24 30 4F | R24.12.31 | BEZFE |wirvexob| H24.01.01 | H25.01.01 | &
Al210]|0|2|nEtEEHE H25 30 4F | R25.12.31 | BE#E |wissrexor| H25.01.01 | H26.01.01 | %%
Al210]|0|2|nEtEEHE H26 30 4F | R26.12.31 | BE#E |wissrexor| H26.01.01 | H27.01.01 | %%
Al210|0|2|nEtEE#E H27 30 4F | R27.12.31 | BEZEE |wisrrexob| H27.01.01 | H28.01.01 | #&%




Al2]0]|0|2|EfEEHE H28 30 4E | R28.12.31 | pEsE [wmsvrexor| H28.01.01 | H29.01.01 |  #%
Al2]0]|0|2|EfEEHE H29 30 4E | R29.12.31 | pEsE [wmsvexor| H29.01.01 | H30.01.01 |  #%
Al2]0]|0|2|nEfEEHE H30 30 4E | R30.12.31 | pEsE [wmsvexor| H30.01.01 | H31.01.01 | %%
Al2]0]|0|2|EfEEHE RO1 30 4 | R31.12.31 | pEsE [wmsvexor| H31.01.01 | R02.01.01 | %%
Al2]0]|0|2|EfEEHE RO2 30 4E | R32.12.31 | pEsE [wmsvexor| R02.01.01 | RO3.01.01 |  #%
Al210|0]|2|nEtEEHE RO3 30 4F | R33.12.31 | BEHE |whssrexor| R03.01.01 | R0O4.01.01 | #&
Al210|0]|2|nEtEEHE R04 30 4F | R34.12.31 | BEHE |whsrexor| R04.01.01 | R05.01.01 | #&
Al210|0]|2|nEtEEHE RO5 30 4F | R34.12.31 | BEHE |wisrexor| R05.01.01 | R06.01.01 | #&
Al3|2]|0|2|BEXRET—F TEGRRES 0 4E BEFE [whisvexoh &
Al3[2]0] 3 |EERERRE RO3 34F | R06.12.31 | BEZE [wmrvexok| RO3.01.01 | R04.01.01 | %
Al3[2]0] 3 |EEERRE R04 34F | R07.12.31 | BE3E [wmrvrexok| R0O4.01.01 | R0O5.01.01 | %
Al3[2]0]3|EEERE RO5 3 4£ | R08.12.31 | BEZE |wissr+txvk| R05.01.01 | R06.01.01 | %
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X E T A4 E BB S F54E
i %G TR PR B
o= VERK PRATHI [T T %% ao | TN | RAFHIR | B RD
CIE = 7 A v Al g | BEER O e o | RPN e | omiin |
Alo 0| 3 [fHhorF IR R s it RO5 1 4 | R06.12.31 | Bg#HE |m@sx+rior| R05.01.01 | R06.01.01 | #&
Alo 0| 1 |Z525 ik RO5 1 4 | R06.12.31 | Bg#HE |m@sx+rior| R05.01.01 | R06.01.01 | #&




Fr e

JE AR

e - A )L 5 FN5
7 %G R RIS
VERK PRATHI [T T %% ao | TN | RAFHIR | B RD
a7 7 g | PFERE | R o | REEIT | Ceen | orie |
fHLRF IR PR RO5 1 4£ | R06.12.31 | Bg#E |mamsrrxor| R05.01.01 | R06.01.01 | #%




. AT & AR
X E 77540 E BE = () R B FN54E
Gl2[o|0: 1 |BE#EaEREFE B S 26|30 4| 43.12.31| FEFE |mFscEam 14 .1.1 K
Gl2|0]0 1|BkGGEREFE K S 27|30 4| 43.12.31| FEFE |[wrcRam 14 .1.1 iin
Gl2[0[0:1|EFFERE ) # S 28|30 4| 43.12.31| FEFE |mFscEam 14 .1.1 K
Gl210]0 1 |BkGGEREFE K S 29|30 4| 43.12.31| FEE |[wmrcRam 14 .1.1 iin
G200 1| BAKFERE ) & S 30|30 4F|43.12.31| FEIFE |wmTcEAm 14 .1.1 I8
Gl2]0]0 1|RAaFERE (1) & S 31304 43.12.31| FEHE |wFasam 14 .1.1 iin
G200 1 |BHaaEREF4) % S 32|30 4F|43.12.31| FEFE |mTEAm 14 .1.1 I8
Gl2]0]0 1|RAaFERE (1) & S 33304 43.12.31| FEE |wFEam 14 .1.1 iin
G200 1 |BHaaEREF) &% S 34|30 4F|43.12.31| FEFE |mTcEam 14 .1.1 I8
Gl2]0]0 1|RAaFERE (1) & S 35|30 4F|43.12.31| FEIEE |wFEam 14 .1.1 iin
G200 1 |BaaHFREF) % S 36|30 4F|43.12.31| FEFE |wTcEAm 14 .1.1 I8
Gl2[o|0: 1| BHAFERE ) & S 37|30 4| 43.12.31| FEIFE [wrciam 14 .1.1 K
G200 1 |BaaHRE 3% &% S 38|30 4F|43.12.31| FEIE |mTcEAm 14 .1.1 I8
Gl210]0 1|BAaGEERE () &% S 39|30 4F|43.12.31| FEIE |wFaEam 14 .1.1 A8
G200 1 |BaaEFRE 3% &% S 40 | 30 4F| 43.12.31| FEFE |mTcEAm 14 .1.1 I8
Gl2]0]0 1B RE () % S 41 |30 4F| 43.12.31| FEHE |wFaEAk 14 .1.1 iin
Gl2|0]0 1|BGGEREEE K S 42|30 4F| 43.12.31| FEFE |[wTca 14 .1.1 iin
Gl2[0o[0: 1| EFFERE ) # S 43| 30 45| 43.12.31| FEEE |sFocEa 14 .1.1 HE
Gl2|0]0 1|BGGEREEE B S 44| 30 4F| 43.12.31| FEFE |[wT o 14 .1.1 iin
Gl2[0o[0: 1| EFFERE ) # S 46 | 30 45| 43.12.31| FEEE |sFocEa 14 .1.1 HE
G200 1 |BHaaHRE 3% % S 49 | 30 4F| 43.12.31| FEFE |mTcEAm 14 .1.1 I8
Gl2[0[0: 1| EFFERE ) # S 50 | 30 45| 43.12.31| FEEE |sFocEa 14 .1.1 HE
Gl2[of0:1|E#EaERE R & S 51|30 4| 43.12.31| FEFE |#mFcmanm 14 .1.1 K
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Gl2lo|o0 1|&#AEE S 52|30 4| 43.12.31| FEE |[wmrcRam 14 .1.1 iin
Gl2[o[0: 1|E#ER S 53|30 4| 43.12.31| BEZE 14 .1.1 K
Gl2]o0]o0 1,fé.‘§%j<£(h)fxx S 54|30 4| 43.12.31| FEE 14 .1.1 iin
Gl2[o[0:1|E#ER S 55|30 4| 43.12.31| BEZE 14 .1.1 K
Gl2fofo 1,%-?%%* S 56|30 4| 43.12.31| BEHE 14 .1.1 K
Gl2|0]0 1|BAFERkE S 57|30 4| 43.12.31| BEZE 14 .1.1 K
G|210]|0:1|BHEEER S 58|30 4| 43.12.31| FEIE 14 .1.1 K
Gl2[o[0:1|B#ER S 60 |30 4| 43.12.31| BEZE 14 .1.1 K
G200 1|BHEER S 61 |304|43.12.31| FEE 14 .1.1 iin
Gl2[o[0:1|BE#ER H 30 4F | 43 .12.31| FEIE 14 .1.1 K
G200 1|BHEER H 30 4E | 43 .12.31| BEHE 14 .1.1 iin
Gl2lo]o LJG%*E(VB) H 30 4F | 43 .12.31| FEIE 14 .1.1 K
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. AT e JE AR
LET AR % () AR S
Wz s a0 o alTR e | RO R g | T | TREEI RIS
Alo|o|o]| 1 [iEa# HO06 30 4E | R13.12.31 | pgsE [sasvexor| H06.01.01 | H14.01.01 | #%
Alo|o|o]| 1 [iEa# HO09 30 4E | R13.12.31 | pgsE [sasvexor| H09.01.01 | H14.01.01 | #%
AlO|o|o]| 1 [iEa# H10 30 4E | R13.12.31 | pgsE [sasvexor| H10.01.01 | H14.01.01 | #%
Alo|o|o]| 1 [iES# H11 30 4F | R13.12.31 | BE#E |masvexon| H11.01.01 | H14.01.01 | %%
Alo|o|o]| 1 [iES# H12 30 4F | R13.12.31 | BE#E |masvexon| H12.01.01 | H14.01.01 | %%
Alo|o|o]| 1 [iES# H13 30 4F | R13.12.31 | BE#E |masvexon| H13.01.01 | H14.01.01 | %%
Alo|o|o]| 1 [iES# H14 30 4F | R14.12.31 | BE#E |masvexon| H14.01.01 | H15.01.01 | %%
Alo|o|o]| 1 S H15 30 4F | R15.12.31 | BE#E |masvexon| H15.01.01 | H16.01.01 | %%
Alo|o|o]| 1 [iES# H16 30 4F | R16.12.31 | BE#E |masvexon| H16.01.01 | H17.01.01 | %%
AlO[O| O] 1 [EaH H17 30 4F | R17.12.31 | BE#E |massvexon| H17.01.01 | H18.01.01 | %%
AlO[O| O] 1 [EaH H18 30 4F | R18.12.31 | BE#E |masvexon| H18.01.01 | H19.01.01 | %%
AlO[O|O]| 1 [EaH H19 30 4F | R19.12.31 | BE#E |masvexor| H19.01.01 | H20.01.01 | %%
AlO[O|O]| 1 [iEaH H20 30 4F | R20.12.31 | BE#E |massvexon| H20.01.01 | H21.01.01 | %%
AlO[O| O] 1 [EaH H21 30 4F | R21.12.31 | BE#E |massvexon| H21.01.01 | H22.01.01 | %%
AlO[O|O|1[EDHR H22 30 4E | R22.12.31 | BEZE |msvexor| H22.01.01 [ H23.01.01 |  #%
AlO[O|O|1[EDHR H23 30 4E | R23.12.31 | BEFE |msrvexor| H23.01.01 | H24.01.01 |  #%
AlO[O|O|1[EDHR H24 30 4E | R24.12.31 | BEFE |msvexor| H24.01.01 [ H25.01.01 |  #%
AlO[O|O|1[EDHR H25 30 4E | R25.12.31 | BEFE |msvexor| H25.01.01 [ H26.01.01 | %%
AlO[O0]|0]| 1 [iEaH H26 30 4 | R26.12.31 | FE#E [masvesor| H26.01.01 | H27.01.01 |  #%
AlO[O0|0]| 1 [iEaH H27 30 4 | R27.12.31 | pE#E [masvesor| H27.01.01 | H28.01.01 |  #%
AlO|O| 0|1 [iESH# H28 30 4E | R28.12.31 | BEHE |masvexor| H28.01.01 [ H29.01.01 | %




Alo|o|o| 1 [iESRE H30 30 4E | R30.12.31 | FE#E |msesvexor| H30.01.01 | H31.01.01 | %
Alo|o]|o| 1 [iESRE RO1 30 4E | R31.12.31 | FE#E |msesvesor| H31.01.01 | R02.01.01 | %
Alo|o]|o| 1 [iESRE R0O2 30 4F | R32.12.31 | FE#E |mesvesor| R0O2.01.01 | RO3.01.01 | %
Alolo|o| 1 [iESRE RO3 30 4F | R33.12.31 | FE#E |mesvesok| R03.01.01 | R0O4.01.01 | %
Alolo|o| 1 [iESRE RO4 30 4E | R34.12.31 | FE#E |mesvesok| R04.01.01 | R05.01.01 | %
Alo|o|o]| 1 [iES# RO5 30 4F | R35.12.31 | BE#E |masvexor| R05.01.01 | R06.01.01 | %%
Al0|0|0]|2|mErER HO06 30 4F | R13.12.31 | BEZE |Hirsc#Ak| H06.01.01 | H14.01.01 | &K
Al0|0|0]|2 |/ rER HO09 30 4F | R13.12.31 | BEZE |HirscEAk| H09.01.01 | H14.01.01 | &%
Al0|0|0]|2|mErER H10 30 4F | R13.12.31 | BEZE |Hirsc#Ak| H10.01.01 | H14.01.01 | &%
Al0|0|0]|2|mErER H11 30 4F | R13.12.31 | BEZE |Hirsc#aArk| H11.01.01 | H14.01.01 | &%
Al0|0|0]|2|mErER H12 30 4F | R13.12.31 | BEZE |Hirsc#aArk| H12.01.01 | H14.01.01 | &%
Al0|0|0]|2|mErER H13 30 4F | R13.12.31 | BEZE |Hirsc#ak| H13.01.01 | H14.01.01 | &K
Al0|0|0]|2|mErER H14 30 4F | R14.12.31 | BEZE | rsc#ak| H14.01.01 | H15.01.01 | &%
Al0|0|0]|2|mErER H15 30 ¢ | R15.12.31 | BEZE |Hirsc#ak| H15.01.01 | H16.01.01 | &%
Al0|0|0]|2 |/ rER H16 30 4F | R16.12.31 | BEZE |Hirsc#ak| H16.01.01 | H17.01.01 | &K
Al0|0|0]|2 |/ rER H17 30 4F | R17.12.31 | BEZE |Hirsc#ak| H17.01.01 | H18.01.01 | &
Al0[0]|0]2|mEESCER H18 30 4F | R18.12.31 | BE#HE |mrFscaik| H18.01.01 | H19.01.01 |  #&%
AlO[O|0]2|mEECER H19 30 4E | R19.12.31 | BEZE |msvexor| H19.01.01 [ H20.01.01 |  #%
AlO[O|0]2|mEECER H20 30 4E | R20.12.31 | BEZE |m=vexor| H20.01.01 [ H21.01.01 | #%
AlO[O|0]2|mECER H21 30 4E | R21.12.31 | BEZE |msvexor| H21.01.01 [ H22.01.01 | %%
AlO|0|0]|2|FEEsCER H22 30 4E | R22.12.31 | pE#E [masvesor| H22.01.01 | H23.01.01 |  #%
AlO|0|0]|2|FEEsCER H23 30 4E | R23.12.31 | FE#E [masvesor| H23.01.01 | H24.01.01 | #%
AlO[0|0]2 | CER H24 30 4E | R24.12.31 | BEZE |masvexor| H24.01.01 [ H25.01.01 | %




AlO|0|0]|2|mEErER H25 30 4E | R25.12.31 | FE#E |mesvesor| H25.01.01 | H26.01.01 | %
AlO|0|0]|2|mEErER H26 30 4E | R26.12.31 | FE#E |mesvesor| H26.01.01 | H27.01.01 | %
Al0]|0| 0|2 |FECER H27 30 4F | R27.12.31 | BE#E |masvexon| H27.01.01 | H28.01.01 | %%
Al0|0|0]|2|mEErER H28 30 4F | R28.12.31 | BE#E |mesvesor| H28.01.01 | H29.01.01 | %
AlO|0|0]|2|mEErER H29 30 4E | R29.12.31 | FE#E |mesvexor| H29.01.01 | H30.01.01 | %
AlO[0]|0]2|mEECER H30 30 4F | R30.12.31 | BE#E |masvexor| H30.01.01 | H31.01.01 | %%
AlO[0]|0]2|mEECER RO1 30 4F | R31.12.31 | BE#E |masvexon| H31.01.01 | R02.01.01 | %%
AlO[0]|0]2|mEECER R0O2 30 4F | R32.12.31 | BE#E |masvexor| R02.01.01 | RO3.01.01 | %%
AlO[0]0]2|mEECER RO3 30 4F | R33.12.31 | BE#E |masvexor| R03.01.01 | R0O4.01.01 | %%
AlO[0]0]2|mEECER RO4 30 4F | R34.12.31 | BE#E |masvexor| R04.01.01 | R05.01.01 | %%
AlO[0]0]2|mEECER RO5 30 4F | R35.12.31 | BE#E |masvexor| R05.01.01 | R06.01.01 | %%
A0 1[0 1 [AFE XS HO03 30 4F | R13.12.31 | BE#E |masvexon| H03.01.01 | H14.01.01 | %%
A0 1[0 1 [AFE XS HO7 30 4F | R13.12.31 | BE#E |massvexor| HO7.01.01 | H14.01.01 | %%
A0 1[0 1 [AFE XS HO09 30 4F | R13.12.31 | BE#E |massvexor| H09.01.01 | H14.01.01 | %%
AlO[ 1|01 [AJT7E XilESR H10 30 4% | R13.12.31 | BE3E [wasrexob| H10.01.01 [ H14.01.01 |  #&
A0 1[0 1 [AFE XS H16 30 4F | R16.12.31 | BE#E |massvexon| H16.01.01 | H17.01.01 | %%
A0 1|01 [ARTFE XA SRR H25 30 4F | R25.12.31 | BEZE |mar+riob| H25.01.01 | H26.01.01 | %
Al0|1]0]|6 |fFIHimER HO06 30 4F | R13.12.31 | BE#HE |mrFscEaik| H06.01.01 | H14.01.01 |  #&%
Al0|1]0]|6 |fFIHEmER HO7 30 4F | R13.12.31 | BE#HE |mFscEakk| HO7.01.01 | H14.01.01 |  #&%
AlO0|1]0]|6 |FIHEmER HO08 30 4F | R13.12.31 | BE#HE |mrFsc=aik| H08.01.01 | H14.01.01 |  #&%
AlO0|1]0]|6 |fFIHiEER HO09 30 4F | R13.12.31 | BEZFE Pwrsc#am| H09.01.01 | H14.01.01 | #&
AlO0|1]0]|6 |fFIHiEER H10 30 4F | R13.12.31 | BEZE Pwrscam| H10.01.01 | H14.01.01 | #&
A0 1|06 |fFIHEER H11 30 4F | R13.12.31 | &3 | Fscsa| H11.01.01 [ H14.01.01 |  #%




A|0|1]0]|6 |fFIHmERR H12 30 4F [ R13.12.31 | BEFE |#orscifi| H12.01.01 | H14.01.01 | #&
A|0|1]0]6 |fFIHmERR H13 30 4F [ R13.12.31 | BEFE |#oracifi| H13.01.01 | H14.01.01 | &
A|0|1]0]6 |fFIHmERE H14 30 4F [ R14.12.31 | BEFE |#oracsfi| H14.01.01 | H15.01.01 | #&
Al0|1]0]6 |fFIHmERE H15 30 4F [ R15.12.31 | BEFE |#Facdfi| H15.01.01 | H16.01.01 | &
A|0|1]0]6 |fFIHmERR H16 30 4F [ R16.12.31 | BEFE |#Facsfii| H16.01.01 | HI7.01.01 | #&
Al0|1]0]6 |FIHEER H17 30 4F | R17.12.31 | BEZE |Hirsc#aAik| H17.01.01 | H18.01.01 | &
Al0|1]0]6 |FIHEER H18 30 4F | R18.12.31 | BEZE |Hirsc#aAk| HI18.01.01 | H19.01.01 | &
Al0|1]0]6 |fFIHEER H19 30 4F | R19.12.31 | BEZE |HirscEaAk| H19.01.01 | H20.01.01 | &
AlO|1]0]|6 |fFIHmERR H20 30 4F | R20.12.31 | BE#E |masvexor| H20.01.01 | H21.01.01 | %%
Al0|1]0]|6 |fFIHmERE H21 30 4F | R21.12.31 | BE#E |masvexon| H21.01.01 | H22.01.01 | %%
AlO0|1]0]|6 |fFIHmERE H22 30 4F | R22.12.31 | BE#E |masvexon| H22.01.01 | H23.01.01 | %%
A|0|1]0]|6 |fFIHmERR H23 30 4F | R23.12.31 | BE#E |massvexon| H23.01.01 | H24.01.01 | %%
A|0|1]0]|6 |fFIHmERR H24 30 4F | R24.12.31 | BE#E |masvexon| H24.01.01 | H25.01.01 | %%
A|O0|1]0]|6 |fFIHmERR H25 30 4F | R25.12.31 | BE#E |massvexon| H25.01.01 | H26.01.01 | %%
A|0|1]0]|6 |fFIHmERR H26 30 4F | R26.12.31 | BE#E |masvexon| H26.01.01 | H27.01.01 | %%
A|0|1]0]|6 |fFIHmERR H27 30 4F | R27.12.31 | BE#E |massvexon| H27.01.01 | H28.01.01 | %%
A|0[1]0]|6 |fFIkmiER H28 30 4F | R28.12.31 | BEFE |ma=rxrior| H28.01.01 | H29.01.01 | %
A|O0[1]0]6 |fFIkamiER H29 30 4F | R29.12.31 | BEZE |ma=r+rior| H29.01.01 | H30.01.01 | %
A|0|1]0]|6 |fFIkmiER RO1 30 4F | R31.12.31 | BEZE |ma=r+rior| H31.01.01 | R02.01.01 | %
A|O[ 1|07 IR H26 10 4F | R06.12.31 | BE#E [mExvrson| H26.01.01 | H27.01.01 | #%
A0 1|07 I mEERE H27 10 4E | R07.12.31 | BE#E |maxvrxor| H27.01.01 | H28.01.01 | %%
A0 1|07 [fFIHmEERE H28 10 4E | R08.12.31 | BE#E |max+rxon| H28.01.01 | H29.01.01 | %%
AlO| 1|07 fBIHEER H29 10 4F | R09.12.31 | FE#E [mxvrxon| H29.01.01 | H30.01.01 | #%




A0 1|07 |fFIkEEH RO1 10 4E | R11.12.31 | FEZE |ma=rvesor| H31.01.01 | RO2.01.01 |  #%
Al0|1]0]|8 | fimER RO1 5 4F | R06.12.31 | BE#E |sexvexor| H31.01.01 | R02.01.01 | %%
Al0|1]0]|8 | fimER R0O2 54 | RO7.12.31 | BE=E |mExvrxor| R0O2.01.01 | R03.01.01 | %%
Al0|1]0]|8 | fimER RO3 5 4F | R08.12.31 | BE#E |mEx+rxor| R03.01.01 | RO4.01.01 | %%
Al0|1|0]|8 | fimER RO5 5 4F | R10.12.31 | BE#E |sex+exor| R05.01.01 | R06.01.01 | %%
A0 1|09 |—MximEER RO4 34 | RO7.12.31 | BEZE [#4svexok| R04.01.01 | R0O5.01.01 | #&
A[0]1]0]|9|—fiximEER R05 34 | R08.12.31 | BE#E |mAx+txok| R05.01.01 | R06.01.01 | %
AlOf1]|1]0|—fxmiER RO5 1 4 | R06.12.31 | BEZE |mAx+txur| R05.01.01 | R06.01.01 | #E
AlO| 1|15 [imanss RO1 54F | R06.12.31 | BEZE [msr+rixok| H31.01.01 | R02.01.01 | %
AlO| 1|15 [imanss RO4 54F | R09.12.31 | BgZE [wsr+riok| R04.01.01 | R05.01.01 | %
AlO0|1|1]6[mmss RO3 3 4F | R06.12.31 | BEZE [wsr+riok| RO3.01.01 | R04.01.01 | %
AlO|1|1]6[mamss RO4 3 4F | R07.12.31 | BEZE [wsr+riok| R04.01.01 | R0O5.01.01 | %
AlO|1|1]6[mamss RO5 3 4F | R08.12.31 | BEZE [wsr+rixok| R05.01.01 | R06.01.01 | %
AlO| 1|17 [imamnss RO5 1 4 | R06.12.31 | BEZE |mAx+txvr| R05.01.01 | R06.01.01 | #&
A0 2] 1|2 BJiSsE SR RO3 3 4F | R06.12.31 | BEFE =+ xor| R03.01.01 | R04.01.01 |  #&
A[O|7]|0]| 1 [EE5E K RO5 1 4£ | R06.12.31 | BEZE |max+rxok| R05.01.01 | R06.01.01 | %%
All| 2|01 |[>CEZIEMATE RO3 3 4E | R06.12.31 | FEZE |mar+rior| R03.01.01 | R04.01.01 | %
All| 2|01 |[>CEZIEMATE R04 34 | RO7.12.31 | BEFHE |wowerwmoon| R04.01.01 | R05.01.01 [s- s
All|2]|0]|1 [CHE=FMELE R05 3 4F | R08.12.31 | FEZE |stizansm| R05.01.01 | R06.01.01 | msemics




